At the top of the driveway, which is usually wider as one needs
space to enter/exit the vehicle, it would be 11 feet wide
instead of 12 feet.

Only in that area at the top of the driveway directly across from
existing concrete pad | would need the separation from the
property line to be 4 feet.



Only top portion is 1 foot
tight. Top portion is where
width is always needed.




No windows, doors or
backyard gate access on that
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Only top portion is 1 foot
tight. Top portion is where
width is always needed.




White line indicates 5 feet from property line,

but the driveway would only be 11 feet wide at that point
at the top of the driveway where normally driveways are
wider to accommodate vehicle entry/exit.

The handle of tape measure indicates the 12 foot width
needed, which would be 4 feet from the property line.






	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6

